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#I1479  3 . 3 :  ~?47JWZBlUJUnUY~J  A  ( A ’ s  p a y o f f  m a t r i x )
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a1514  3.10: ml5l~WaRaUUnllua~  'A (A's payoff matrix)

A 3 2 - 2t

A 1 - 3 - 42

A 0 I - 33
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ml515  3.118 m74luWa~AaB

naenfhau  Alnalniuau  B B B B9 9 , 1 3

A 3 2L '-2 0 -2 + ?U!"

A 1 -3 -4 -4a

'A Cl 1 -3 -33

d1qrylako 3 2 -2 t



@?57J 3 . 1 2 :  VWIW%KJU~~U~.J~~  A (A’s  p a y o f f  m a t r i x )

5 1 6

3 2 7

4 3 0

c

I

(minimax  p r i n c i p l e ) w;wti$l  fhiiafi~aid7a4anuo2i3  (min imum of column
‘# . 9

maximal &iltri$iu  3f uid?asa~uasd7iianuflauou  (maximum of raw minima). 9 ?



X i2q  i Y,2 0 Ci,j = 1, 2, 3)

3 3

UZJti Ix* = 1 t IY, = 1

i = l j=l



1. n75U7Wi$lGXiT@fl%5?~  (graphic solution method)

2 .  n75w7WalaaaTclfl5~lavdpl  (sol&ion  b y  t h e  m e t h o d  o f  a r i t h m e t i c )

3.  n?5ft?wa,aaaTna”?5~a~m,un~nd  (solution by the method of matrix

a l g e b r a )

4 .  nl5#lWataaB~mB~~U~awnl5~~~ut~~l~U ( s o l u t i o n  b y  t h e  m e t h o d  o f

simultaneaus  linear equations)

5 .  n75U7waroasfna~~~7#ucln75r”aurdu  ( s o l u t i o n  b y  t h e  m e t h o d  o f

1 inear  programming)



VVi75  3 . 1 3 :  fl757JWEiSlaYUnUYS9 A (A’s  p a y o f f  m a t r i x )

I 1 I

nasnt&a;r  A\nafm&a~  13 El E, , 1 2

A 7 3c

A 2 4P
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B ”‘ L = 7X‘ + 2x I =7x,+2(1-x,)  =5x t2L

B V1 a = 3X‘ t 4x 2 =3x,+4(1-x,1  =-x t4L

iiu Go vL = va &ire3

iida: 5x1+2 = -x t4L

tiaElt x = l/3L

uaa x = l - xa ‘

= 1 - (l/3)

= 2/3

ua'a v = 7xL I + 2x*

= 7(1/3) t 2(2/3)

= 11/3

= 3.6t

V a =3x,+4x .2

= 3(1/3) t 4(2/3)

= 11/3

= 3.6t

iaw &I V = v =3.6+ =vL 1,

: 3.6t = 3.6'



L. X -0
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, x
: 2

-1 - X = l/3 -. L -1

x =oI X = 02
X = 1 =2 X 1L
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A 7 3

A 1 2 4 *



na&m  A\nam&ad  B ,B 6 mJ,iwl WmilWL  u%
. q a

A 7L 3 4 2/6

A 22 4 2 4/6

631lUb7HU 5 1 6

I/6 5/6



A 7

C 2

5

l/6

YL

B

3 4

4 I 2
2/6 = l/3: x L

416 = 2/3r x 2

1 6

5/6

y2

’ fna5uarnaeTfmiar4ut

A = (x,,  xl) = (i/3, 2/3)

B = (Y,, Y,) = (l/6, 516)

v = 11/3 = 3.6+




